DOREL

// HOME

MIAMI

Miami Chair
The Miami is the epitome of modern home 330mm
office seating. It features a multi-functional -
mechanism with adjustable arms, and strong E_E;r:ﬂ_:_) |200-220mm
lumbar support, all looking fantastic with its -
stylish curves and soft appearance. With its
breathable mesh back and headrest, and
comfortably cushioned seat, the Miami is a must
have for anyone looking to relax whilst working.

i

Seat Height
Adjustment

2

Adjustable
Arms

*  Fabric Seat with Mesh Backrest
*  Lumbar Support
*  Headrest
e Adjustable Arms
e Adjustable Seat Height
*  Shiny Chrome Base with castors
¢ Gas Lift 80mm, Base 350mm
. Dimensions
Product W640mm x H1230-1310mm x D610mm
Shipping 1 Box W620mm x H650mm x D390mm
*  Weight
Product 21kg
Shipping 23.2kg

1220-1330mm

660-810mm

490-570mm

. AOC2800BLK BLACK EAN 5030752020235

. CSEurope@Dorel.com alphaSOI'l . 01942 524100



mailto:CSEurope@Dorel.com

MIAMI

Miami Chair

The Alphason Miami mesh back essential
maximizes style and comfort.

*  Fabric Seat with Mesh Backrest
*  Lumbar Support
*  Headrest
*  Adjustable Arms
*  Adjustable Seat Height
*  Shiny Chrome Base with castors
*  @Gas Lift 80mm, Base 350mm
* Dimensions
Product W640mm x H1230-1310mm x D610mm
Shipping 1 Box W620mm x H650mm x D390mm
*  Weight
Product 21kg
Shipping 23.2kg

. AOC2800BLK BLACK EAN 5030752020235

. CSEurope@Dorel.com

1220-1330mm

330mm
/(-_ —
/ @J Izoo-zzomm
\\

e £
/ é’_——'_/——.__—':) =
[/ R
[/ Ly
o {9__,%‘__ . N
0/7? m Ia
50()('““1/ / I
. . o
;/’ . NS
I\/ I\"\I \\ (‘O
J \ O\

490-570mm

660-810mm

DOREL

/  HOME

Seat Height
Adjustment

2

Adjustable
Arms

. 01942 524100



mailto:CSEurope@Dorel.com

2800

Q15112-AI_r0

01942 524100
CSEurope@dorel.com

q-1-

Dorel Home Furnishings Europe Ltd.
Building 4, Imperial Place, Maxwell Road, Borehamwood WD6 1JN




2800

Thank you for purchasing this chair. Please inspect all parts prior to assembly and contact us if
there are any damaged or missing components. This must be done before attempting assembly.

Pre-assembly preparation

Please check the pack contents before attempting to assemble this product. A full checklist of components is given in this
leaflet. If any components are missing, please contact the retailer from whom you bought this product.

This product is HEAVY, it should be assembled as near as possible to the point of use. TAKE CARE WHEN LIFTING to avoid
personal injury and (or) damage to the product.

This product takes approximately 15 MINUTES to assemble with 1 PERSON.
The fittings pack contains SMALL ITEMS which should be KEPT AWAY FROM YOUNG CHILDREN.

Read this leaflet in full before commencing assembly to ensure safe and satisfactory operation of this product.

Safety Instructions
Never drag furniture when moving it, always lift it.

Periodically check all fixings to ensure none have come loose and re-tighten where necessary.

Please take care when handling or moving the furniture as careless handling may cause

damage or injury.

. s . . )
Furniture can be dangerous if incorrectly installed. Assembly should be carried out by a >< :
competent person. No liability will be accepted for damage or injury caused by incorrectly
installed or assembled furniture.

N

It is recommended that before moving heavy objects to a new location they are completely
dis-assembled to avoid personal injury or damage to the furniture. Please be careful to retain
all fittings when doing this.

Never tilt the chair. Ensure the chair is always placed firmly on the ground.

WARNING :

Sit on the chair to use the weight of the body to tighten the joint on the column and the seat.

Please note this is not a permanent fit due to the rise & fall and 360 degree turning action.
Always take care and keep feet clear of base when moving / lifting this product.

Do not stand on chair as this may cause serious injury.

Do not use the chair if any part appears damaged, broken or missing.
Do not use the chair unless all components are correctly fitted and adjusted.

Only trained personnel may replace or repair seat height adjustment components with energy
accumulators.

PLEASE KEEP THESE INSTRUCTIONS FOR FUTURE REFERENCE
DOREL HOME FURNISHINGS EUROPE ACCEPTS NO LIABILITY FOR ANY DAMAGE CAUSED THROUGH
INCORRECT OR INAPPROPRIATE USE OF THIS PRODUCT.



2800

x12(M8*30) B <12(vs221 5)
(Jmm <>
x2(M6*30) x6(M6*14*1)
| —

B <o &Y 1 (m3)

x4(M6*35)

%
o FIUB)




Insert"H"part into"S"then assemble
two screws back and tweak tightly.

Put"K"under"J",insert both of them
Into holes and tweak tightly

Put"l"part upon"S"part ,press until tight.

According

to the picture,use
screws to connect mechanism and back frame




2800

NC=i

Assemble armrests same picture Loose out the screws at the two side of “R”

Put“R” to “G” at the right position then 6 E &—A
tighten the two screws.




	MIAMI
	SF4870373 (3).pdf
	MIAMI

	SF4870373_TECH.pdf

